

COMMON PRE-BOARD EXAMINATION 2022-23

Subject: ACCOUNTANCY (055)

MARKING SCHEME





MARKING SCHEME

Q	PARTICULARS	M
N		М
1	b) ₹ 20,000	
2	(c) A is true but R is false.	
3	C=75000	
	OR	
	d) Interest on partner's capital	
4	C	
5	C	
6	B: Section 48	
7	D.(a)-3, (b)-1, (c)-4, (d)-2	
8	(c) 44,00,000	
	Explanation: Company has to refund Rs.44,00,000. Excess money received from 40000 applicants will be refunded. Total application received = 20000 + 20000 × 3 (oversubscribed) = 80000 So application refunded = 80000 - 4000 - 36000 = 40000 Total amount refunded = 40000 × 110 = 44,00,000 OR	
9	(a) Shown on Liability side of the Balance Sheet ₹1,50,000	
10	(a) Credited to Partners Capital A/c ₹40,000	

1	a)				
		Debenture suspense A/c	Dr.	3,60,000	
		To 12 % Debenture a/c			3,60,000
		Explanation: When Debenture	s issued a	s Collateral sec	curity,
		Debenture suspense account wi	ll be debi	ted. Debenture:	Suspense
		account act as a security for tak	ing a loar	n from the lende	er. When the
		loan is repaid suspense account	is reverse	ed and thus can	celled.
(b) Net V	Vorth = Capital of partners + Ne	et accumu	lated Profit	
1	Explana	tion: Net worth is the net amou	nt engage	d in the busines	ss. To find out the
		n of a business following formula			
	-	of all old partners including new	-		-
		ccumulated losses and fictitious	assets) - I	Fictitious assets	- Deferred
r	evenue	expenditure.			
3 0	d) Sweat	Equity Shares			
1	Explana	tion: Sweat equity shares" are s	such equit	y shares, which	are issued by a
C	company	to its directors or employeesat	a discoun	t for providing	their know-how
(or makin	g available rights in the nature of	of intellec	tual property ri	ghts or value
8	dditions	s, by whatever name called.			
			OR		
(d) No D	vividend			
1	Explana	tion: Preference Shares are thos	se shares o	on which divide	end to be paid
г	ıs a fixed	d amount. Divided into preferen	ce shareh	olders is paid b	efore dividend-
ŗ	oaying to	equity shareholders. These sha	res are co	onvertible and c	an be
r	edeeme	d.			
	C=6 Moi	nths			
		over basis			
-	(b) Turn	over basis			
5	` '	tion: The method in which the j	profits up	to the date of d	leath for the
5	Explana		-		

			OR			
	(d) Distribute profit be Explanation: The profits cannot be share should be distributed a profit-sharing ratio old	fit should be distribed equally becauses coordingly. In case	outed amothere is page of any in	ong the A and C in artnership deed and	l profit	
16	a) Old part	ners in old ratio				
17	Case 1					
	Profit is enough to pay ₹ 16,000 and D ₹ 16,0	_		-		
	thepartners					
	<u>Case 2</u>					
	Profit is not enough to	pay salary to part	ners Prof	it will be shared in	the ratio of	
	salary24,000 : 16,000	: 16,000 i.e. 3:2:2.	B will ge	et 15,000; C ₹ 10,00	00 and D₹	
	10,000.					
	Case 3 Salary will not be paid inthis case, it is treated	as an appropriatio		re is loss. Salary is	not a charge	
18	Computation of Goody			TATA DO CO		-
	Year	Profits	Wt.	Wt. Profits		41
	2013 2014	80,000 1,00,000	$\begin{vmatrix} 1 \\ 2 \end{vmatrix}$	80,000 2,00,000		
	2015	1,10,000	3	3,30,000		
	2016	1,50,000	4	6,00,000		
			10	12,10,000		41
			10	12,10,000		_
	Weighted Average Pro Goodwill=121000*3=3		1,21,000			
19		B's	Capital A			3
	Particulars	Amount	Particul		Amount	4
	To Drawings	5,000	By Ba	lance b/d	40,000	
	To B's Executor's	38,600	By Int	erest on	600	
			Capita	1		
			By Pro	ofit & Loss	3,000	

					Suspens	se A/c					
				43,600					4.	3,600	
20	Journa	l Ent	ries in the books of	of Parth Ltd.			r				3
	Date		ticulars			LF	Dr		(Cr	
		Ass	sets A/c	Dr	•		2,20,	000			
			To Krishna l	Ltd.					2	2,20,000	
		T7 .	1 7.1	Б			2 20	000			
		Krı	shna Ltd. To 9% Pref. S	Dr			2,20,	000		2,00,000	
			To S P R A/c	snare A/C					4	20,000	
			1031 KA/C							20,000	
21			In	the books of	Abhishek	Ltd.					
				lance-sheet (ıt				
	Partic	ulars		,		Note r		Am	our	nt (₹)	
	I.		EQUITY AND I	JABILITY:		1		23,6	53,0	000	
	1.		SHAREHOLDE								
			SHARE CAPITA	AL O ACCOUN	тс						
	NOTI	<u> </u>	PARTICULARS		13				Λ Ν	MOUNT	
	NO	ٺ	TARTICULARS	,					AI	VIOUNI	
	1		Share Capital								
	-		Authorised Capi	tal							
			50,000 equity sh		each				50	,00,000	
			Issued Capital								
			25,000	shares of ₹	100 each				25	,00,000	
			Subsci	ribed Capita	ıl						
				shares of ₹		23,75,0	000				
			Less: (Calls-in-Arre	ars (600 ×	20)-12	,000	00 23,63,000		,63,000	
									23	,63,000	
22				Jou	rnal Entri						
	Date		ticulars)r		Cr	
	I	Rea		r			1	2,000)		
		(T)	To Dharam A/c	• •						12,000	
	77		eing Remuneration				1	<u> </u>	`		
	II	Rea)r				5,000	J	15,000	
		(Re	To Jay eing Remuneration	naid)						13,000	
		(De	mg Kemuneranor	paiu)			1	6,000)		
		Jay	Dı	<u>*</u>			1	5,000	,	16,000	
		July	To Vijay	-						,	
		(Be	eing Expenses born	ne by Jay, pa	id by Vija	y)					
	III		alisation A/c D					7,000)		

		To Deepa				7,000	
		(Being Remuneration paid)				7,000	
		(Being Remuneration para)					
		Deepa Dr			6,000		
		To Bank A/c			0,000	6,000	
		(Being Expenses paid by firm)				,,,,,,	
	IV	No Entry			_	_	11
23		Journal Entrie	S				3+
	DATE		LF	DR	<u> </u>	CR] 3
	I	Share Capital A/c (20 Shares × 7)		140			11
		To Share Forfeiture A/c (20 Shares ×				100	11
		5)					
		To Calls-in- Arrears A/c (20 Shares				40	
		×2)					
		(20 Shares of Rs 10 each, Rs 7 called-up					
		forfeited for the non-payment of call)]
		Bank A/c (15 Shares \times 8)		120)		<u> </u>
		To Share Capital A/c (15 Shares \times 7)				105	
		To Securities Premium A/c (15 Shares ×				15	
		1)					41
		(15 shares were reissued as Rs 7 paid-up					
		for Rs 8 per share)					41
		Shares Forfeiture A/c (15 Shares \times 5)		75			
		To Capital Reserve A/c				75	11
		(Transfer of profit on re-issue of 15					11
		shares)					
	II						11
		Share Capital A/c (90 Shares \times 8)	Dr.	720)		
		Securities Premium A/c (90 Shares × 2)	Dr.	180)		
		To Share Forfeiture A/c (90 Shares ×				450	
		5)					11
		To Share Allotment A/c (90 Shares ×				450	
		5)					41
		(Shares forfeited for non-payment of					
		allotment)					4
		Bank A/c (80 Shares × 10)	Dr.	800)	640	41
		To Share Capital A/c (80 Shares × 8)				640	11
		To Securities Premium A/c (80 Shares ×				160	
		2)					11
		(80 shares were reissued for Rs 10, Rs 8 called-up)					
		Shares Forfeiture A/c (80 Shares × 5) DR		400)		

	To Capital (Transfer of shares)			80	4	.00
24		Dagligg	-4: a.a. A a a a			
24	D1	Realisa	ation Acco	Particulars	<u> </u>	A
	Particulars To Position		Amount			Amount
	To Building		45,000	By Creditors		14,000
	To Machinery To Furniture		15,000 12,000	By Yale's Capital		9,000
	To Debtors		8,000	(Furniture) By Bales's Loan A/c		500
	To Stock		24,000	By Bank:		300
	To Bank:		24,000	Stock 22,000		
	Creditors: 14,000			Debtors 7,500		
	Dis. Exp.: 2,500		16,500	Machinery 16,000		
			- 3,2 3 3	Building 35,000		80,500
					_	
				By Loss:		
				Bale: 8,250		
				Yale: 8,250		16,500
			1,20,500			1,20,500
			apital Acc			
	Particulars	Bale	Yale	Particulars P/1	Bale	Yale
	To Real. Loss:	8250	8250	By Balance B/d	50000	40000
	To Realisation A/c To Bank A/c	45750	9000 26750	By Gen. Reserve	4000	4000
	10 Dalik A/C	54000	44000		54000	44000
5		34000	44000		34000	144000
	Revaluation Account					
	Particulars	1	Amt. in Rs		Amt. i	
	Claim for Workmen		4,000			,000
	Compensation			doubtful Debts	3	3,000
				Capital A/cs: (loss		
				on Rev.) X 1,500		
				Y 900		
			4,000	Z <u>600</u>	4	,000
		•			•	

Partner's Capital Account

Particulars	X	Y	Z	Particulars	X	Y	Z
To Reval.	1,500	900	600	By Bal. b/d	50,000	40,000	20,000
То Ү	5,100		10,200	By IFF	5,000	3,000	2,000
To Cash		8,200		By P & L	20,000	12,000	8,000
To Y's				By X		5,100	
Loan A/c		61,200		By Z		10,200	
To Bal. C/d	68400		19200				
	75,000	70,300	30,000		75,000	70,300	30,000

OR
Mankrit's Capital Account

Particulars	Amt. in	Particulars	Amt. in
	Rs		Rs
Drawings	6,000	Balance b/d	3,00,000
Mankrit's Executor A/c	4,18,000	Salary	24,000
		Nikita's Capital A/c	40,000
		Pulkit's Capital A/c	20,000
		Profit & Loss Suspense A/c	10,000
		General Reserve	30,000
	4,24,000		4,24,000

1. Calculation of Mankrit's share of goodwill

Average Profit for the last three years $= \begin{array}{c} = (80,000 + 90,000 + 1,00,000) / 3 \\ = \boxed{\neq 90,000} \\ \text{Goodwill of the firm} \\ = \text{Average Profits of the last three years} \times \\ \text{Number of Years' Purchase} \\ = \boxed{\neq (90,000 \times 2) = \neq 1,80,000} \\ \text{Mankrit's Goodwill=} 180000*3/9-60000} \\ \text{GR=} 2:1 \\ \end{array}$

26 IN THE BOOKS OF X LTD

DATE	PARTICULARS	DR	CR
	Bank A/C Dr. To Debenture Application and Allotment A/c (Being debenture application money	1,35,000	1,35,000
	received) Debenture App.&	1,35,000	
	Describer Apple	1,55,000	
	Allotment Dr. Loss on		
	Issue of Debentures Dr.	22,500	
	To 12% Debentures A/c		1,50,000
	To Premium on Redemption of Deb. A/C		7,500
	(Being debentures issued at a discount of 10% andredeemable at a premium of 5%)		
	IN THE BOOKS OF Y LTD.	•	•
DATE	PARTICULARS	DR	CR
	Bank A/C Dr. To Debenture Application & Allotment A/C (Being debenture application money received)	1,92,000	1,92,000
	Debenture App & Allot A/C Dr.	1,92,000	
	Loss on Issue of Debentures A/c Dr.	16,000	
	To 9% Debentures A/C		1,60,000
	To Securities Premium Res A/C		
	To Prem. on Redemption of Debentures A/C		32,000
			16,000
	IN THE BOOKS OF Z LTD.		
DATE	PARTICULARS	DR	CR
	Bank A/C Dr. To Debenture Application & Allotment A/c (Being debenture application money received)	1,88,000	1,88,000
	Debenture Appl & Allotment A/c Dr Discount on issue A/c Dr To 9% Debentures	1,88,000 12,000	2,00,000
	Part B		

27	(c) Cash flow from Financing activit	ies	
28	(d) to know information about the co	ntinuance of an enterprise	
29	(c) Add in Financing Activities		
30	c) 8 times		
	OR C) Issue of bonus shares		
31	S.No. Items	Sub-headings	
	a) Capital Reserve	Reserves and Surplus	
	b) Bonds	Long-term Borrowings	
	c) Loans repayable on demand	_	
	d) Vehicles	Fixed assets-Tangible Assets	
	e) Goodwill	Fixed Assets-Intangible	
22	f) Loose tools	Inventories	2
32		favourable due to following reasons:	3
	-	lying idle because of insufficient investment	
	opportunities.		
	b) There may be slow clearance	if inventory due to less sales.	
	 c) The amount of trade receivab policy. 	les may go up because of poor debt collection	
33	a) Gross Profit Ratio=GP*100/F	RFO=4,00,000*100/20,00,000=20%	
	COGS=AV. INVENTORY*1		
	GROSS PROFIT=25% OF 10		
		IT=16,00,000+4,00,000=20,00,000	
	b) Interest Coverage Ratio=Net Tax/Interest=4,40,000/2.40,0		
	Net Profit before Tax=1,20,0	00*100/60=2,00,000	
	Net Profit before Interest and	Tax=2,00,000+2,40,000=4,40,000	
	OR		
	Transaction	Impact	
	Obtained a loan of Rs 5,00,000 from State Bank of India payable after five years	Total assets increase by 5,00,000 as cash is coming in. However, since shareholders' funds remain unchanged, therefore proprietary ratio will decrease	
	Purchased machinery of Rs	Total assets are increasing and decreasing	

		by 2,00,000 simultaneously out and machinery is comin numerator and denominator unchanged and so proprieta change	g in. Thus, both remain ry ratio will not				
	Redeemed 7% Redeemable Preference Shares Rs 3,00,000.	Both shareholders' funds an decrease by 3,00,000 simult proprietary ratio will decrea	taneously and so				
	Issued equity shares to the vendor of building purchased for Rs 7,00,000.	Both shareholders' funds an increase by 7,00,000 simult proprietary ratio will improve	aneously and so				
34	(a) Interest on Debentures=1,60,0						
	(b) Depreciation on Machinery=1	,20,000-95,000=25,000					
	(c) Investing Activities						
	Purchase of Machinery (3,70,000)						
	Purchase of Non Current Inve	stments $(35,000)=(4,0)$	15,000)				
		1 10 000	, ,				
	(d) Net Profit before tax and EOI						
	Net profit before tax and EO	I	1,10,000				
	Net profit before tax and EO: + Depreciation on Fixed Ass	I	1,10,000 25,000				
	Net profit before tax and EO: + Depreciation on Fixed Ass Interest on debentures	I ets	1,10,000 25,000 16,000				
	Net profit before tax and EO: + Depreciation on Fixed Ass Interest on debentures Operating profit before work	I ets ing capital changes	1,10,000 25,000 16,000 1,51,000				
	Net profit before tax and EO: + Depreciation on Fixed Ass Interest on debentures Operating profit before work + Decrease in CA: Tra	ets ing capital changes de Receivables	1,10,000 25,000 16,000 1,51,000 1,10,000				
	Net profit before tax and EO: + Depreciation on Fixed Ass Interest on debentures Operating profit before work	I ets ing capital changes de Receivables le Payables	1,10,000 25,000 16,000 1,51,000				